—Ohapler Y cyclic  Clags .

pefi A Grovp G s C'(:\’C“C itf Jae G G-?a"\ne ZE and e

wWike G- <a > , 4 is  clled  a yqu}uf br G

eaple (w,e) =<1> %
35 N B L DY L

ﬂiﬂ (7.+)-<—l>

RMK: if qe & s q genelubo _ Han 97 s also @_genclabsr”

&g Zy oo $e,123.45% = 1> <C>

Dy =Sotzeen 98- <4y - <97 43y - < 7>

7> 2 §0t 4, 0,9,6,2,9,4,80  geneldor {7, §ishicd

c £5>_ %o 5 & cyrlic SUpsowf ok 7,

J

M |
flor 6””( ‘/{ <Y> - EQ,M,Q,AE

g - £L1> - L)>» <57 - L1I7

i3 .
A

ﬂ'f'h ( Ofle) , QJ_) = ?l:z,i,q‘g L. ?l,Zz%‘?Jg =% d7 = Ull)

3> aul <I> gelakol For 0() <9> = F1.9% 2 Glk)

4> ol geaclofol” for L) A> = $1% o)

W3 7 4
T T S

g a \ ¥
ngIoaded By: anonymous
1 3 A

d
STUDENTS-HUB.com i
, q




2 n-/
q“ ~ ad B a4 deyides =}
G=(R s s g qgoic . 0922, )2 e0
* .
G. (R, .Y is QL%LL’Q , b5 5] e
ook Ther
" N ” M-N
suffese. g = 4 = a -e = qg -¢
an
o = Mm-N:= o Silce Jo)= o0
= M- 7N
. Iy
= Faln spse 4. o = 4 b _ P
L-Y- N4
v F g
I aM+r - (4") al g <N
v\‘;/\
_ e (a)f
_ @) _—e
So (F=»5 = N devides L=g-

STUDENTS-HUB.com Uploaded By:anon




e lal =5, <4r =7 | i

<a> - }?e e, a a8’ ? q qq - cvg_;_cr’”;- e .
$ b 74,4 fea o
q/o 9 7
Q - a -
0’ - qé“
o Jal-5 /Ja- chyidles :
4.5 /g-8 ' 1 i P DSBS
Jal=5 / 7.2
tol=5) 4-

Copllaly 12 TFof any  ofep eleoeat a , ol = | <a>| . B 2 s i Ml 38
ool 2 ek & be a gevp and let @ be an clementk of ofder n in G

It akie. then N _divides K .

 TheY2 ' kb a bo on deme of ofder n i aglovp and Ik K be a fushie
: (k)
v ke Thea <84 > = < o™ > and || = n/ gd(nK) .

R
2" G= T , 9.2 , la)-4 , K:=3

5 L0 % FFe LS - Tt
cd i)
G P TS

-t

lg)._6 . €. 2 .

' (6:3) 3
STUDENTS-HUB.com Uploaded By: anonymous



Cl"{dl‘C —

Glllay | olks & elemenls _in Fiaite 7 gfoof i -
d 1Y)

I a bigle cylic a@up  the ofdec of an clemenr  divides e ofder  oziein

OL JL‘ %(vi i f$‘f’1 £ G njr)l'(‘ , !Gl— 24 —

L g8, G-<ay ,bea o |bl= 1,919 0eB — lof- 1220 4342, 29

|

Colallady 2 ClileCion fof <oy <als wd |at]. |ad)

|}
t
[]
|

e | -n A
),L‘A\ ‘;,\)..»»\-l 2

ek Jalog ,Then <4'> = <ai> iiﬁwwﬂ

[a] = fad] iff o (n,0) = ged (n,g) .

|
|

exp lal - 12 Y "431_ !gq) - g - L’ IQJ’E,»_VO_ il
laf) o o'l = Ja"l - 2 o 1 .12 24 Thni.2
(125) | v ]‘
z
+ TF |G]- <o > of ofiler: 24 |
9 |
ge/)eﬁeloﬁ of & aft _a. 05, "*'q”l,. g, . qlz, q, b
a5 = 2M -4 _
b 9.c.d (5,24) [ !
i L o _ My aby oSe,abau?
ged(4,24) ]
- ’4‘5’ = ZL’ - 2" o= 8 = <4’5)- ?e.'; CI’S,. a‘,. 42’,. CII{ Clg}‘al{. qJ;
' 9.4 (12,15) I \
STUDENTS-HUB.com Uploaded By: anonymous




(‘o{‘”AHZ Genelaloz _ oF  Fale chh( Grleups .

et lal-n Then.<a% = < 29> .l; scd (ng) =1 oml |4I,l<a">|

i acd(n.g) - | ol

856! (11,0)

(eﬁ"&\fL"’ Gi¢ M}A Dl: Zn y O

ﬂqi_ul_a_u_J_gmmlaLaﬁ Za_ifF. 4¢J(n,xs -1

S TS AP TS WA a_geaclalor Y S DU S N}

(ﬂ/ K} !

X% EnJ oj/ g@ffa}vﬁ op Zo - L5 7, 1

X
R~ +olt

of ruclic subafeyp 2
3 aleyf

a ,
N / ] 57
Zoo fnd L@ - ED,Q.‘L,K,S,)J% — cuclic sobawp of 7y o denedec -[a,a g

‘:?2/.’03
<;> = ?l)/;llo%glz :]1!/“.‘{.7:2;1& A SN TS
% Cosdes G - Zay
L Fied all o seelhc : 1.5, 7, 11,13,17,19, 22
. T 14 3 o 2
1 G 2 = 14) - 3 e Dol o ¥ L25. Vo duln 085
9'("4(2,2) 2 g

1
Ly olher gooetbols = 3. 2.7.,2 - 2,9,15.2 .

STUDENTS-HUB.com Uploaded By: anonymous



ek Uk 6=<a> b WA ol B8 Hen U -Le>

oR ”i?e(_.”?ab(‘ %
Y "
@ a
,f}' S ))E ‘H\c M!}CS}: st b-.QSQH i&) H- <b2
Beo L Coacl k. e
9
= g'=c. @) .a" oL <5,

‘LQK.(‘GS)’z = /Qf c W
eh  LeM

So Ho <b>

STUDENTS-HUB.com

Uploaded By: anc

nymo




_cﬂrdlag_:_.s_vb_ywbs_o}__gn

/Z') - ( ' > "12'1 Ll'l?l lo 1%3 0, %(]’P

MYy o ofdel 5 1 Ly 4l L
437 . ok ol Jox . | X X . X ~
<\>’ 0‘: O(JC[Q{J ¥ { A % )

N -

) | q Yo ~‘ AIVi S o o /] h 7 0 o 2ulz 2, o(df 2
oeup of ofdl” n s #d) . it 0 i enote o P(4)- p-)
2 A(2) = | [+ naia)
2 22 =2 ,
Y m@_&e o1 ooweduz  A5kipive =¥ Lis) P guad
g Qo) X NS LR2AD - NS NEs, L f . <
4 gl) - 2 —%,53
L /¢) P AR U G R N SR I GRR
3 gs)= M - 12,543

STUDENTS-HUB.com Uploaded By: anonymous



I

_comLag,L_Mabor £ elemegls o ol A _in__a Fnile 4fovp

__In q Faike geup JLMQM_M&JLMMLL}M___

SuMmMasy
c

o PebiniHon ofCyche govps:

AQAELG;_R_Q_;M__::F@@}!M [}

ficK  Xe G
Whal's es o Conbaing A 7 [
= ) ]
<xr e Lo, L, K K §
e
= ﬁiﬂ%ﬁdﬂ&lﬂ‘[ bq
= & [ G a Oédtt “ilfwa
_@_MBM%MMLM}M (+)
ok ye H
- er? - € o ,1‘ :l

Y> o § Ry, 2y, ey, O Ly, 2y, 3. .

- I Hz_{iLLLML_/_,Jém_b&_@LH_a_Q(FL'L_gﬁwg




o Fnike Cuclic glowps. i\ , P
Gfewp i G n__usde  oddion

Elemeok :  $o0,1, 2, ., 013
G s cydhie i G <1y
. =2 -l o0 b, 2, 0l ;o Lol A+2 - In-], 00 -
X nsitm.lj)z -2 94 o | 2 n-| o | 2 n-l__o ..
'-\-——-—V TR T, e e
| =
_\;nd_-‘;zimla);

N33 = 3 (Med ) Noke . Ho e o cyclic gfoups .
'-lsn-lﬁ.l_njg L_Infinite : Z, +
\‘ -2 = n- )1 2 Bwile 7/ , & Z/aZ . igresels med p

eAf . rvmlu‘__lh_gﬁzy_l‘_._wbm

7y =50.1,2.3.45%

> Consilt Mhe cyclic  Subgloufs of Zi ned¢ B

24 L Ge!

> = P, by vt s S a Mg Llnmda)}  §10.3.4,508

2> = 14,2.2,2,5,2 b (2.4, g Sl loedt Roed £ - § 2.Y, 0

21 Y4l $ild .

L8> - {3,658

<Y> - $4,2,08

<5y = $5.4.2,2,1,0%
a Lo> = 7o B

Wﬂb Z, . AYe<b> .7,
-HUB.com Uploaded By: anonymous



i —— T




